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(1) =1

(2) =%d T

(3) Y

(4) 9
Options :

212807114617. 1
212807114618.2
212807114619. 3
212807114620. 4

Comp Sci or IP
Group Number : 4
Group Id : 212807625
Group Maximum Duration : 60
Group Minimum Duration : 60
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 200
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Compulsory

Section Id : 212807729
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15
Section Marks : 75
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2128072088

&collegedunias

-



Question Shuffling Allowed :
Is Section Default? :

Yes
null

Question Number : 151 Question Id : 21280728656 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQI

The tile pointer is at beginning of the file in :

(A) T
(B) r+
(C) a+
(D) we
(E) a

Choose the correct answer from the options given below

(1) {A), (B) and (E) enly
(2} {A) (B) and ([ only
(3) (B), (C) and (D) only
(4) (B, ([} and (E) only

Options :

212807114621. 1
212807114622. 2
212807114623. 3
212807114624. 4

Question Number : 151 Question Id : 21280728656 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQl
R HEA H e F U J T
(A) T
(B) r+
(C) a+
(D) w+
(E) @

e feu T fame § 4 il 39 w1 90 #ifan

(1) =4 (A), (B) 31 (E)
(2) FF (A), (B) 3 (D)
(3) e (B), (C) 37 (D)
(4) = (B), (D) #F (E)

Options :

212807114621. 1
212807114622. 2
212807114623. 3
212807114624. 4

collegedunia:



Question Number : 152 Question Id : 21280728657 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1

If an error encountered in a method, then what would be one of the correct sequence of the tollowing
steps in the exception handling process

(A} Excephion is ramsed

(B) Create exception object

(C) Searches for method in call stack in reverse sequence

(D} An error encountered in a method

(E) Runbme system searches for exception handler in the current method
Choose the correct answer from the options given below :

(1} (A) (B). (C). (E), (D)

(2} (D). (B). (A), (E). (C)

(3) (A (C). (B). (D). (E)

(4) (O, (A). (B) (E), (D)

Options :

212807114625. 1
212807114626. 2
212807114627. 3
212807114628. 4

Question Number : 152 Question Id : 21280728657 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1

oty w fafiy F feen iz %t amen dm @ 9 svran freawn ofea 6 Fre sl =5 o wd e dm
(A} H9EE I B

(B) 9= = =6

(C) e = § fafly & fa faoda w5 § e

(Dy = fafa = 3fz 4 5m

(E) = fafu # wHemy foem svaErs Toen aw w aere §
== few o fasmedl % W T9 W =9 Hifaw

(1) (&) (B), (C) (E), (D)

(2} (D) (B), (A). (E) (C)

(3) (A, (C), (B). (I, (E)

(4)  (C) (A), (B), (E), (D)

Options :

212807114625. 1
212807114626. 2
212807114627. 3

212807114628. 4
&collegedunia;
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Question Number : 153 Question Id : 21280728658 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ1

Yash wrote a program for mserting and deleting data in a file, using Python, One of the functions,
he used is incorrect. Identify the incorrect tunction.

(1)  writelines( )

(2} readlines{)

(3)  writeline] )

(4} readline( )
Options :
212807114629. 1
212807114630. 2

212807114631. 3
212807114632. 4

Question Number : 153 Question Id : 21280728658 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ1

Ty = Tl wem 8 221 = 30 w20 & fow ueeE =1 wEm S U v o 39E 5w 3w fe
T Tl T H U TE # | Teld R S g |

(1)  wrtelines{ )

(2} readlines{ )

(3)  writeline( )

(4) readline( )

Options :

212807114629. 1
212807114630. 2
212807114631. 3
212807114632. 4

Question Number : 154 Question Id : 21280728659 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

It a statement int ("Hello') is written in python, then what kind of exception will it give ?
(1) MNameError
(2] ValueError
(%  OSError
(4) TypeErmmor
Options :
212807114633. 1
212807114634, 2

212807114635. 3
212807114636. 4

collegedunia:




Question Number : 154 Question Id : 21280728659 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI

g Uah F94 int (Helle') 7297 | foman & & 7% fom wam =1 19w 3m 7
{1y NameError
(2} WValueError
(3y  OS5Error
(4) TypeError
Options :
212807114633. 1
212807114634. 2

212807114635. 3
212807114636. 4

Question Number : 155 Question Id : 21280728660 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQI

hatch List - I with List - [T

List - 1 List - I1

(A} UNIQUE (I}  The column which refers to value of an attributes defined
primary key in another table

(B) Primary key (I} A value specified for the column if no valoe is specified

(C) Defaualt (IIT} The column which can uniquely identify each row/record in a
table

(D)} Foreign key (IV) Ensures that all the values in a column are distinct

Choose the correct answer from the options given below :
(1) (A, (B-(IV), (C)-(11), (D)-(1)
(2) (A)-{IV), (B)-(IID), (C)-(11), (D)-(1)
(3) (AN, B)-(II), (O, (DHIV)
(4] (AHTVY, (BT, (CHTT)L (D))
Options :
212807114637. 1
212807114638. 2

212807114639. 3
212807114640. 4

Question Number : 155 Question Id : 21280728660 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ1

collegedunia:




Tl # gE11 1 e wifa
-1 TiT-11

(A) UNIQUE () =8 &9 = fF w@ieE & 9 gam &, o7 oifern 8 wEed S F
=1 7 g ¥

(B) WS e (1) =@ %15 9 TAfEE 71 € 7 vs w9 & foe ke A9m)

(C) Tewiee (I} &% TY 9 AfEaa &9 9 e & Waw 1w iRE & Tea w1
T B

(D) i e (V) Fi=iEs w2 & W & i uE gus i T

== feu mu fameui © ° Wl S 1 == wifa
(1) (A, (BIIV), (C)-(1), (D)-(D)
(2) (A)-IV), (B)-{IID), (C)-(11), {D)-(1)
(3 (A, (B)=(II), {C)-(1); (D(IV)
(4)  (A-IV) (B)-(1), ()10, (D-(MIT)

Options :

212807114637. 1
212807114638. 2
212807114639. 3
212807114640. 4

Question Number : 156 Question Id : 21280728661 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

In relational database management svstem (RDBMS), a “tuple’ is defined as :
(1)  Another name for a table
(2)  Another name for primary key
(3 A row or record in a database able
(4) An attribute attached to a record
Options :
212807114641. 1
212807114642. 2

212807114643. 3
212807114644. 4

Question Number : 156 Question Id : 21280728661 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

&collegedunia;
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Fremre 2ems va=r famen (RDBMS) ® 7% 2 ufoafE &
(1) W& et F T 2609

(2) Wl E= % fem gET M

(3) U B2 Al uw A g e

(4) UF FHE 8 95 R

Options :

212807114641. 1
212807114642. 2
212807114643. 3
212807114644. 4

Question Number : 157 Question Id : 21280728662 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQI1
A kev 1s used to represent the relabiomship between two relations

(1% f’rimur}' |.-'.L-.'].'
(2) TForeign key
(3)  Candidate key
(4) Super key

Options :

212807114645. 1
212807114646. 2
212807114647. 3
212807114648. 4

Question Number : 157 Question Id : 21280728662 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQI
51 frerem & Jta Ty R e s F oo F1 I fE .
(1) g i
(2) i

(3)  SHfEEe T
(4)  HE F=

Options :

212807114645. 1
212807114646. 2
212807114647. 3
212807114648. 4

Question Number : 158 Question Id : 21280728663 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

IKey Value

collegedunia:




|C0mprehensi0n |MCQ1

How many join operation are needad o combine N tables on equality eonclition
(1) N-2

(2) N

(3 N-1

(4) Log(N)
Options :

212807114649. 1
212807114650. 2
212807114651. 3
212807114652. 4

Question Number : 158 Question Id : 21280728663 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1
TGl F1 WE T N A & T W W & 0 e join S60EE S aersa
(1) N-2
(2) N
(3) N-1
(4)  Log(N)
Options :

212807114649. 1
212807114650. 2
212807114651. 3
212807114652. 4

Question Number : 159 Question Id : 21280728664 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

Consider the ables A and B given below, How many tuples will bein the output after apply AnB
operation

A|SNO| Name | Class B[S NO| Mame | Class
1 Mesna 8 1 Asha 7
2 Meena 3 2 Meena L
3 | Leena 7 3 | Mohit ¥
4 Vijava 7 4 | Vijaya 7
5 Hugata H

(1) 5

(2)y 3

3y 2

4y 9

Options :

collegedunia:




212807114653. 1
212807114654. 2
212807114655. 3
212807114656. 4

Question Number : 159 Question Id : 21280728664 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

= 5t 78 AfEERE A S B W AR S AR ATEE T 60 45 F v S | fRa s am

AISNO| Name | Class
1 Meena &
2 | Meena b
4 Lecna 7
4 Vijava 7
3 Sujata 2

(1y 5

(2) 3

(3 2

(4) 9

Options :

212807114653. 1
212807114654. 2
212807114655. 3
212807114656. 4

B

SMNO| MName | Class
1 Asha 2
2 Meena b
3 Mohit z
4 Vijaya 7

Question Number : 160 Question Id : 21280728665 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

Arrange the following commands in the correct order of execution :

(A} SELECT
(B) ORDER BY
(C) GROUT BY
(D} WHERE
(E) FROM

C!'I‘l:l{'lﬁli_' H'H.' correct answer f]"l:'llTL 111!: 1"J|:'||.'i.IZZIFI.‘:'- Eji".'t-"l'l |.'!~L'II:'II W

(1)  (E) (A) (B} (O, (D)
(2) (A (E) (C) (D), (B)
(3)  (A) (E) (D) (C). (B)
(4) (A (B) (C) (D), (E)

Options :
212807114657. 1

collegedunia:



212807114658. 2
212807114659. 3
212807114660. 4

Question Number : 160 Question Id : 21280728665 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

F=fefas 52 = Ral-aa & 98 &0 o =aiem wfa

(A) SELECT
(B) ORDER BY
(C) GROUP BY
(D) WHERE
(E) FROM

(1) (E) (A) (B), (©), (D)
(2)  (A), (E). (C). (D). (B)
(3)  (A) (E) (D), (C). (B)
(4] (A (Bl (C) (D) (E)

Options :

212807114657. 1

212807114658.2

212807114659. 3
212807114660. 4

e

Question Number : 161 Question Id : 21280728666 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1

Which is not correct about string function

(1) UCASE(String”) ;
(2) LCASE("String") ;
(3 MIN{Column) ;
(4) LTRIM("String™) ;
Options :
212807114661 1
212807114662. 2

212807114663. 3
212807114664. 4

7

Question Number : 161 Question Id : 21280728666 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

collegedunia:



fEnrmFfEmdsrmad =g ?
(1) UCASE({"String”) ;

(2]  LCASE(*String”) ;

(31 MINColumn) ;

(4) LTRIM({"String”) :

Options :

212807114661. 1
212807114662. 2
212807114663. 3
212807114664. 4

Question Number : 162 Question Id : 21280728667 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

Which device 15 used to send the signals to only selected device instead of sending to all
(1Y Hub
(2)  Switch

(3 RJ45
(4) Modem
Options :

212807114665. 1
212807114666. 2
212807114667. 3
212807114668. 4

Question Number : 162 Question Id : 21280728667 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1
Tt TR T e T SUEI w5 Tk W o o0 TR ST S B
(L) @4
(2) TE=
(3) RJ45
(4) HrEH
Options :

212807114665. 1
212807114666. 2
212807114667. 3
212807114668. 4

Question Number : 163 Question Id : 21280728668 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value |
Comprehension MCQI1 I

collegedunia:




i a combination of hardware and software which tulbill request by the web browssr,
(1) Website
(2)  Clent

(¥ Web server

|:-H Lrl

Options :

212807114669. 1
212807114670. 2
212807114671. 3
212807114672. 4

Question Number : 163 Question Id : 21280728668 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQI1

FE=A I T F Tk g & 9 F 99 g F e w9 e g

(1) =aaEe
(2) R
(3) == |t
(4) ST
Options :

212807114669. 1
212807114670. 2
212807114671. 3
212807114672. 4

Question Number : 164 Question Id : 21280728669 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ1

Misha wants to mstall a computer network in her oftice at mimmum cost, Help her to choose a
topology in which less wire is used :

(1) Hybrid

(2) Mesh

(3y Tree

(4 Bus
Options :

212807114673. 1
212807114674.2
212807114675. 3
212807114676. 4

Question Number : 164 Question Id : 21280728669 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value |
Comprehension MCQLl

collegedunia:




Fren = v W 9 FEeE | S Ses I S0 TEdl 2 | U S F Tas § SR
(1) TEEE

(2) HH
(3 &
(4) =H
Options :

212807114673. 1
212807114674.2
212807114675. 3
212807114676. 4

Question Number : 165 Question Id : 21280728670 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1

Which ot the tollowing are true about cookies,

(A} A cookie is a text file containing a string of information which is transterred by the website to
the Browser when we browse it

(BY  The information stored is retransmitted to the server,

(C) It helps in customizing the information that will be displayved.

(D} Cookies are always harmless,

(E) First cookie software was created in 1994 at Netscape.

Choose the correct answer from the options given below :

(1) (A), (B), (C) and (D) only

(2} (A), (B), (C) and (E) only

(3} (A), (B), (D) and (E) only

(4)  {A), (€), (D) and (E) only

Options :

212807114677. 1
212807114678. 2
212807114679. 3
212807114680. 4

Question Number : 165 Question Id : 21280728670 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1

collegedunia:
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(A) Uk F UH T2 wEe ¥ faw d St #ous g0 39 # o S9 wes e aug d9eEg g

A o Ty F e E
(B) F2R i T8 TN FAL HI A WAL w0t
(C) % Wafdie F1 T el G R A fe @ e e H we W
(D) =im Tea el e
(E) Teen Tl Hie=ag? 1994 S25RT T S0 T 91
e fau T famredi o & WE IR W 99 wifey
(1) &ae (A), (B). (C) # (D)
(2) == (A), (B), (O) 37 (E)
(3) Fa (A), (B). (D) ¥ (E)
(4) FEE (A), (C), (D) 3 (E)

Options :

212807114677. 1
212807114678. 2
212807114679. 3
212807114680. 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Computer Science

Question Number : 166 Question Id : 21280728671 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

Given an infix expression ((X-+Y)+2)/(5+W) write its postfix notation :

(1) RY+ZoWet/
(2] MYZ5+Was/
(3] XY+Z5W+/
(4) XYZ++oW+/

Options :

212807114681. 1
212807114682. 2
212807114683. 3

collegedunia:



212807114684. 4

Question Number : 166 Question Id : 21280728671 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

Fedt 7 2afram TAEEE ((X+Y)+2)/ (5+W) F fon Trefiras Sve fafan .

(1) XY+Z5Wet/
(2) - XYZ5+Wa+)
(3)  XY+Z+5W+/
(4) XYZ+=5W+/

Options :

212807114681. 1

212807114682.2

212807114683. 3
212807114684. 4

Question Number : 167 Question Id : 21280728672 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ2

if len(Stack) ==0 :
print(“error”)

The above statement is handling the situation called :

[1) Underflow error
(2] Owerflow error
(3) Empty stack
(4) Stack length zero
Options :
212807114685. 1
212807114686. 2

212807114687. 3
212807114688. 4

Question Number : 167 Question Id : 21280728672 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

collegedunia:



if len{Stack) ==0 :

print{”error” )

F9tE F w1 Al e R, Fee
(1) TTETF) TH

(2) SR TR

(3) UEd T
(4) T #g FR
Options :

212807114685. 1
212807114686. 2
212807114687. 3
212807114688. 4

Question Number : 168 Question Id : 21280728673 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

Identity the stack in given example :
(1) Standing in a line to deposit electricity bill
(2) Jobs in a processor are lined up tor access
(3) Arrangement of plates in a food counter in Buffet
(4) Waiting for the turn in a singing talent show
Options :
212807114689. 1
212807114690. 2

212807114691. 3
212807114692. 4

Question Number : 168 Question Id : 21280728673 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2
e 7 ZEmam |§ 2 T W

(1) Ta=et 1 fam = %9 % o @R 9 =8 B
(2) Tt ad Tme s e dmag
(3)  F% H A F FEE W GiEE S T

(4) TR % Wi I H ST S F W &
Options :

212807114689. 1

212807114690. 2

212807114691. 3
212807114692. 4

Question Number : 169 Question Id : 21280728674 Question Type : MCQ Option Shuffling : No Is Question Mandat~>~ - Na Calenlatas - Nona
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

collegedunia:




Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

Which one of the following statement is wrong for Cueue and stack data stractures 7

(1) Queuwe is an ordered linear data structure, tollowing FIFO strategy
(2) Insertion in a queue happens at the rear end, deletion happens at the fromt

(3 Deque is a version of gueune, which allows insertion and deleion at both ends
(4] A degue supports only queue operations it does not support stack operabions

Options :

212807114693. 1
212807114694. 2
212807114695. 3
212807114696. 4

Question Number : 169 Question Id : 21280728674 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

¥ WE 12F F Wi F1 H=Ea F Ton fefaiea O 0 w5 m W e e 7

(1) ] U =Tafem o daime T 8, FIFO T 31 9T FTa 520 |
(2) Fwet =g o wnfire s foes S @ g # siv foem s g o)
(3) S RO TR W A o T W SE e S

(4) T BIE] e T S T AR 6§ 9 T S A w76

Options :

212807114693. 1
212807114694. 2
212807114695. 3
212807114696. 4

Question Number : 170 Question Id : 21280728675 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

collegedunia:



There are fve statements listed below, EBach statement having some information related to data
structure. ldentify the correct statement(s).
(A} A stack is an example of a FIFO data structure
(B) The funchon top( } removes the value from the top of a stack
(C) The term deque stands for double ended queue
(D} A queue 15 a data structure in which items can be added or removed from either end
(Ey PEEK is an operation used to view elements at the front of the queue, without removing it
from the queue
Choose the correct answer from the options given below :
(1) {A), (C) and (E) :ml}'
(2) (B), (C) and (D) only
(3} (B) and (E) only
(4)  (C) and (E) only
Options :
212807114697. 1
212807114698. 2

212807114699. 3
212807114700. 4

Question Number : 170 Question Id : 21280728675 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

= i e g ¥ T T U i S S A s § 6 FeEen #1 T ?
(A) T T R (FIFO) HATHE1 Gra- 3 UF 35T 2

(B) top() HEH =6 & Y H AFAE F i

(€C) T EHRAL TS H

(D) = UF siiwg d@ran ¢ fag o w2 1 faet ot SR | e @ wern = w
(E) TPEEK ¥ A =W fam w231 31 7 % 217 &84 & TF =90 &

=14 feu o faereat o | wWE T 99 i

(1) =@ (A), (C) 3R (E)

(2) #== (B), () 3 (D)

(3) =AW (B) AW (E)

(4) A (C) 5 (E)

Options :

212807114697. 1
212807114698. 2
212807114699. 3
212807114700. 4

Question Number : 171 Question Id : 21280728676 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Qcollegedunias

-



Key Value
Comprehension MCQ2

Which of the tollowing is(are} true For hashing 7

(A} The ime rut]uin-ﬂj to compute Hie index value 15 i.I1d'EFIE‘.l'Hj[H.'I.|: of the number of 1bems in the
list

(B) The time required to compute the index value depend on the number of items in the list

() The cost of computing a hash funcion does not athect the performance of hashing based
searching

(D} The time taken by different hash lunchons may be ditterent

(E}) There is no problem of collision in hashing

Choose the eorrect answer from the up[‘if.xmi i:;'jvun Bl -

(1) (B) (C) and (E) only

(2] (A) (D and (E) only

(3] (B)and (C) only

(4] (A) and (D) only

Options :

212807114701. 1
212807114702. 2
212807114703. 3
212807114704. 4

Question Number : 171 Question Id : 21280728676 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

gm s fon Fefefm d o sn mad & 2

(A) F2am W = T % fere s weE gE w2 W den w A T e
(B) SEEH 51 i A % TE AT HEE gE 9 AelEes i dE W A E
(C) 29 A o T ) AR 2 i @ o e o vafas 5981 e
(D) =Fm &0 T g fora o v fu= @t e )

(Ey #fam o Fifer=m =t W =72 @)

= fau 7 fasredi § 9 Wl 3w & 99 St

(1) = (B), (C) 2 (E)

(2) % (A), (D) &R (E)

(3) =AW (B) AW (C)

(4) = (A) S (D)

Options :

212807114701. 1
212807114702.2
212807114703. 3
212807114704. 4

Question Number : 172 Question Id : 21280728677 Question Type : MCQ Option Shuffling : No Is Question Mandar - oAt

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
.
collegedunia:

-



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

Which statement 18 incorrect in relabion to searching an element in a list :
(1) Linear search checks the elements of a list, one at a time, without skipping any element
(2)  Binary search divides the list into two and check the element accordingly
(3)  Binary search always works on sorted list either ascending or descending
(4) Linear search can be performed only if the list is sorted either ascending or descending
Options :
212807114705. 1
212807114706. 2

212807114707. 3
212807114708. 4

Question Number : 172 Question Id : 21280728677 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

foslt =i © 7 WeF S mE FE W S e E 7

(1) w74 g9 & i 929 #, UF 90 ° UF w1 90 90 A e ©

(2) =T w e wE e o et e i aeeE weh S #

(3) = HE e gt T, A AR W A W wa

(4) iR Ee i Pt = S el § 9 g1 W @ A O sEa w9 geratin Al

Options :

212807114705. 1
212807114706. 2
212807114707. 3
212807114708. 4

Question Number : 173 Question Id : 21280728678 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

collegedunia:




Consider the algorithm:
NameSearch (numList, key.n)
Stepl: SET index = 0

Step2: WHILE mdex < n, REPEAT step3

Step3: IF numlist [index] = key THEN

PRINT “Element found at position”™, index + 1

STOP
ELSE
ndex = index + 1

Stt‘:P-l: PRINT “Search unsuccessfull”

The algorithm performs
(1) Random search
(2) Search by hashing
(3) Binary search

(4] Linear search
Options :
212807114709. 1
212807114710. 2

212807114711. 3
212807114712. 4

Question Number : 173 Question Id : 21280728678 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

Frr wenfem m faem =t
MNameSearch (numlList, key,n)
Stepl: SET index = 0

Step2: WHILE index < n, REPEAT step3

Step3: IF numilist [index] = key THEN

PRINT "Element found at posibion”, index + 1

sTOP
ELSE

ndex = index + 1

Sil—!]}-.l: PRINT "Search unsuccessiull”

uwiifiem Fremea s #
(1) =R E@m
(2) &M smEe
(3) =l
(4) ¥few w@E

Options :

212807114709. 1
212807114710.2
212807114711. 3

Qcollegedunias

-



212807114712. 4

Question Number : 174 Question Id : 21280728679 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

Consider the following number list [B, 7, 13, 1, -9, 4]

Alter applying selechon sort, which of the list 15 correct atber Pags 3 7
(1) [-9. 8, 7, 13,1, 4]

(3) [«%1,4,13,8, 7

(3 [-9.1,7, 13 8 4]

(5 [-9.1.4 7, 8. 13]

Options :

212807114713. 1
212807114714.2
212807114715. 3
212807114716. 4

Question Number : 174 Question Id : 21280728679 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

FeATeTiEs S g T = w8, 7, 13, 1,49, 4

HERT W2 0] #4918, O 3 o 91E s aE w7
(1) [%.8,7 13 1, 4]

I.-l]' I_'I:J.' i.r 4.’ ‘1'.1 H.I ?]

(3 |-9. 1,7 13 8, 4]

(4) [-% 1.4, 7, 8, 13]

Options :
212807114713. 1
212807114714.2

212807114715. 3
212807114716. 4

Question Number : 175 Question Id : 21280728680 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

collegedunia:




Consider that:
a = [20, 30, 40]
|.'!' = Il

bl] = 72

print (a]

The output will be :
(1) [72, 30, 40]
(2) [20, 30, 40]

=

(3)  Error
(4) [72. 72, 72
Options :

212807114717. 1
212807114718.2
212807114719. 3
212807114720. 4

Question Number : 175 Question Id : 21280728680 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2
F=m =il T f=

a = [20, 30, 40]

|1=.|1

bl0] = 72

print (a)

T AT W
(1) [72, 30, 40]
(2)  [20, 30, 40]
(3) e

() [72, 72, 72]
Options :

212807114717. 1
212807114718.2
212807114719. 3
212807114720. 4

Question Number : 176 Question Id : 21280728681 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

What is the number of passes made by bubble sort for a list containing n elements 7

(1] n

(2)  {(n-1)
(3 (n+l)
i4) (nt+2)

collegedunia:



Options :

212807114721. 1
212807114722.2
212807114723. 3
212807114724. 4

Question Number : 176 Question Id : 21280728681 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

n MZE1 ATl g1 % ferg wEe iE g e T a5 den s gl

(1} n

(2} (n-1)
(3)  (n+1)
(4) (n+d)
Options :

212807114721. 1
212807114722.2
212807114723. 3
212807114724. 4

Question Number : 177 Question Id : 21280728682 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

In data processing cycle after generating output, data is summarized using some statistical
technigues, Choose the technique that is not used for Data summarization from the options given

bl ¢

(A} Mean

(B) Matplotlib
(C)y Mode

(D) Rank

(E) MNumpy

Choose the correct answer from the options given below :

(1) {A) and (C) only
(2} (B) and {E) only

(3 {C) and (D)) only
(4) (A) and (D) only

Options :

212807114725. 1
212807114726. 2
212807114727. 3
212807114728. 4

Question Number : 177 Question Id : 21280728682 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

collegedunia:



Key

'Value

Comprehension MCQ2

g B 9% H Az Feen % vvam, 9 ARy A F 39Em &6 Ak ) Hem
= #0038 e o 99w T SuEm anwe w1 T e = #

(A}
(B)
(&)

g
AEAH

(D) =%

(E)

=1 feu o famei o 1 | I 1 =99 Fifan

(1)
(2)
(3)
(4)

Options :

TH]

I (A) #(C)
e (B) @1 (E)
¥ (C) 3 (D)
HEA (A) T (D)

212807114725. 1
212807114726. 2
212807114727. 3
212807114728. 4

Question Number : 178 Question Id : 21280728683 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

Which of the following is correct for standard deviation, where X = mean

(1]

(3)

(4]

Options :

3 (%X

=1

F =

212807114729. 1

&collegedunia;

-



212807114730. 2
212807114731. 3
212807114732. 4

Question Number : 178 Question Id : 21280728683 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

£y

" foraem & P fefafar d @ e & o0 X =wma

n .-
) _E{K,—E_ﬁ
5 S Lok
n
14 i
2
<) I?,_,'ujl-l
T
2
n~l[:':a ':"ilII
(3 0T
=1, "
X=X
|] L i S T R
| 1|||f=1‘~ o
Options :

212807114729. 1
212807114730. 2
212807114731. 3
212807114732. 4

Question Number : 179 Question Id : 21280728684 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

Unstructured data are sometimes described with the help of some other data is called ;
(1) List
(2] Values

(3) Key
(4) Metadata
Options :

212807114733. 1
212807114734.2
212807114735. 3
212807114736. 4

collegedunia:




Question Number : 179 Question Id : 21280728684 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

A e T A0 - T 9 RS R eEmW 9w E

(1) F=

(2) HFAHH
(3)  F
(4) I =
Options :

212807114733. 1
212807114734.2
212807114735. 3
212807114736. 4

Question Number : 180 Question Id : 21280728685 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
Match List - T with List - 1.
List - 1 List - 1
(A) Relation (Il Number of rows
(B)  Tuple () Logically related data organised in a able
(C) Degree (IIT} MNumber of columns
(D} Cardinality (IV) Row in a table

C]'H'l'i.lii-'i_' HH.-' correct answer E]'-i.lll'l H1l." 1'I'II1|'_'i.|.1IlH Hli".-'t'rl |.'|l'.'|.lZZl'|.-'|.' i
(1) (AL, B)-{D), (O)<{IV), (D)-{I)
(2) (AN, (B)-(II0), (C)-(1), (D}(IV)
(3) (A, (B}-(IV), (C)-(11), (D)-(T)
(4)  (A)-(), (B)-{IV), (C)-(IIT), (DN-(T)
Options :
212807114737. 1
212807114738. 2

212807114739. 3
212807114740. 4

Question Number : 180 Question Id : 21280728685 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

collegedunia:




-1 gELI e i
-1 TEI-11

(A) femm (1) il =1 5en

(B)y =9¢ (1 Tt e o @i B9 4 geEiag 2762 F sgaey
(Cy femt (I} =i # 9=

(D) et (V) et afem 1 dism

ey femr 70 Famreyi o 4 |0 =97 =1 =9 SifA
(1) (AL, (BT}, (C){IV), (D))

(2)  (A)(I), (B)-{III), {C)-(1), (D}(IV)

(3)  (AMI), (B)-(IV), (C)(L). (DY-(T)

(4) (A1), (B)-{IV), (C)}-{ILI), {D)-(I)

Options :

212807114737. 1

212807114738.2

212807114739. 3
212807114740. 4

Question Number : 181 Question Id : 21280728686 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

Which of the following are true about DBEMS 7
(A} Each attribute should have unigue name

(BY Order of attribute is immaterial

(C)  Each tuple should be anique

(D} The values of atributes do not belong to same domain
(E) An attribute can have multiple values in tuple

CI'I-CH'I-:‘?-E H'H.' correct answer II'U'[TI ﬂ'lE I.TF‘ﬁl:l.l."t‘i Hi."-"k‘]'l. I.H?‘J{'l'n-"l-' v
(1) {A), (B) and (E) only

(2} (A) (B). (C) and (D) only

(3} {A), (B) and (C) only

(4} {A) (B) and (D)) only

Options :

212807114741. 1
212807114742. 2
212807114743. 3
212807114744. 4

Question Number : 181 Question Id : 21280728686 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

&collegeduniaé

-



Fefafrdd s A DBMSF s § w&t & 7
(A} WeRR W w1 SAfgeE A Ee ey

(B) 791 1 ®H S §
(C) uerE 2ua wifEds 2 =i

(D} Tl % HF TF E0E 4 T AeEeeE 6 ¥
(E) 29 T 0 W 3 FE A W HEA &
e fau o fasedi § 9 | 3T %1 999 Fifa

(1) ==e (A), (B) 3 (E)
(2) = (A), (B), () (D)
(3) T (A), (B) ¥R (C)
(4) THEH (A), (B) 37 (D)

Options :

212807114741. 1
212807114742.2
212807114743. 3
212807114744. 4

-

Question Number : 182 Question Id : 21280728687 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

What will be the output of the given SOL Cuery

SELECT DAY("2023-03-01);
(1) Thursday

(2] 1
(3 2023-03-
(4) 3

Options :

212807114745. 1
212807114746. 2
212807114747. 3
212807114748. 4

Question Number : 182 Question Id : 21280728687 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

collegedunia:



&1 T SOL F # sgz i = Em
SELECT DAY({("2023-03-01);
(1) Thursday

(9 9
(3 2023-03-01
(4 3

Options :

212807114745. 1
212807114746. 2
212807114747. 3
212807114748. 4

Question Number : 183 Question Id : 21280728688 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

Consider a table T with 4 rows and 3 columns and table S with 6 rows and 3 columns. What will
be the size of resultant table if we apply Cartesian product 7

(1) No. of rows =6, No. of colomns =5
(2]  No ofrows =4, No. of columns = 3
(3) No. of rows = B, No. of columns = 24

(4) No. of rows = 24, No. of columns = 8

Options :

212807114749. 1
212807114750. 2
212807114751. 3
212807114752. 4

Question Number : 183 Question Id : 21280728688 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

4 ieeat S 5wl el afem P i dfe S 3 g T e s w1 T =1 ) 9t T wRieE
UIES | #44 § o girond arfes o e = am

(1} UiFdi =6, HH=5

(2) UEEA =4, TV =3

(3) YR =8, W9 =24

(4) Hiemai=24, W =8

Options :

212807114749. 1
212807114750. 2
212807114751. 3
212807114752. 4

Question Number : 184 Question Id : 21280728689 Question Type : MCQ Option Shuffling : No Is Question Mandatorv : Na Calcunlatar - None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

collegedunia:




Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
Match List - I with List - 1.
List - 1 List - I1
(A) Round() () Date function
(B) Rtrim() (I} Aggregrate function
(C) Count() (IlI} Math function
(D} Monthname() (TV) String function

Choose the correct answer from the opbons given below :
(1) (A)(IV), (B)-(III), (C)-(L), (D)-(1)
(2) (A, (B)-(IV). (C)-(11). (IN)-(I)
(3 (A)ID, (B)=(IT), {C)-(1), (DN-(IV)
(4)  (A-IV), (B)(IL), (C)-(I). (D))

Options :

212807114753 1
212807114754.2
212807114755. 3
212807114756. 4

Question Number : 184 Question Id : 21280728689 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

i1 § g1 1 e wifan .
-1 =it-11

(&) Round() () 22 %A
(B) Rtrim() (I} T e
(C) Count() (1) T SEe
(D} Monthname() (Tvy T S

== feu o fasredi & O w3 %1 =5A e
(1) (AIVY, (B){IID), (C)-(ID), (DY-(1)
(2)  (A)-(ID, (B)-(IV), (O, (D)D)
(3 (AID, (B)-(11, (CO)-(1), (D-(IV)
(4)  (A)IV), (B)-(10). (C)-(T), (D)-(1)

Options :

212807114753 1
212807114754.2
212807114755. 3
212807114756. 4

Question Number : 185 Question Id : 21280728690 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
.
collegedunia:

-



Key

'Value

Comprehension

MCQ2

Which operator is used to match a pattern or string in 5QL 7

(1) In

(2)  Bebween

(% Join
(4) Like
Options :

212807114757. 1
212807114758.2
212807114759. 3
212807114760. 4

Question Number : 185 Question Id : 21280728690 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

SOL § v Tz o fidn =1 foemm # fom fem st | smam 3 2 7

(1Y In

(2] Batwaen

(3] Join
(4) Like
Options :

212807114757 1
212807114758.2
212807114759. 3
212807114760. 4
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Question Number : 186 Question Id : 21280728691 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

Compl

collegedunia:



Arjun has been given following incomplete code, which Ekes a student dekails (name, marks)
and writes into a binary file student.dat.
rmport pickle
stname = inpub{“enter name")
stmarks = int{input {"enter marks™))
stdict = |"Name” : stname, "Marks” : stmarks)
e . # line 1
ey # line 2
# line 3
# line 4

print (r)
if f[“marks”] ==85 :

print{“eligible tor scholarship™)
else

print{“not eligible for scholarship™)

Complete code for line 1 o open the given binary file in { object using with satement :
(1) with open(student.dat, "w") as I :
(2) with open(*student.dat “,"wh") as f :
(3)  with oepen(“student.dat " w) as f:
(4) with open("student.dat”," wh™) in [ :
Options :
212807114761. 1
212807114762. 2

212807114763. 3
212807114764. 4

Question Number : 186 Question Id : 21280728691 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

collegedunia:




w5 =1 Frefatam vy wie fom w ifE ol & faam (9m, o) 1 anes T AR T wEa
student.dat. 7 @ 7|
immport pickle
stname = input{“enter name")
stmarks = int{input {“enter marks"})
stdict = [“Name” : stname, “Marks” : stmarks]
# line 1
# limee 2
# line 3
# line 4

print (z}
if f["marks”] >=85 :

print{“ehgible for scholarship”™)
else :

print{“not eligible for scholarship™)

With TZ2HZAFH =1 3T FiF o T 95 FEE F f A ¥ ge F fag w1 0w fag oo
HE

(1) with open{student.dat, “w") as f :

(2)  with open{"student.dat ","wb") as f:

(3] with open|{"student.dat “,w) as I :

(4)  with open{"student.dat”,"wh") in { :
Options :
212807114761. 1
212807114762. 2
212807114763. 3
212807114764. 4

Question Number : 187 Question Id : 21280728692 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

collegedunia:




Arun has been given following incomplete code, which Ekes a student details (name, marks)
and writes into a binary file student.dat.
rmport pickle
stname = inpub{“enter name")
stmarks = int{input {"enter marks™))
stdict = |"Name” : stname, "Marks” : stmarks)
# line 1
# line 2
# line 3

et # line 4
print {r)
if f[“marks”] >=85 :

print{“eligible tor scholarship™)

else :

print{“not eligible for scholarship™)

[dentify correct code for line 2 to write the contents in the file :
(1)  Edump( )
(2}  pickle.dumpi )
(3)  pickle.dump(stdict)
(4) pickle.dump(stdict,f)
Options :
212807114765. 1
212807114766. 2

212807114767. 3
212807114768. 4

Question Number : 187 Question Id : 21280728692 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

collegedunia:




¥ =i Feferfan @ yn w12 fom = S & ol & faam (m, @) % g 2 e AR wEe

student.dat. T @ |

import pickle

stname = input{“enter name")

stmarks = int{input (“enter marks™}))

stlict = |“Name” ; stname, “Marks” ; stmarks]
: # line 1

# line 2

# line 3

# line 4

print (r}
if r|"marks”] ==85 ;

print{“eligible for scholarship™)
else :

print{"not eligible for scholarship™)

wEE W fara 3y # foed 3 o dfeaemns 2 % o wd e . e
(1)  Edumpi}

(2]  pickle.dump( )

(3) pickle.dump(stdict)

(4) pickle.dump(stdict.f)

Options :

212807114765. 1
212807114766. 2
212807114767. 3
212807114768. 4

Question Number : 188 Question Id : 21280728693 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension Compl

Qcollegedunias

-



Arun has been given following incomplete code, which Ekes a student details (name, marks)

and writes into a binary file student.dat.
rmport pickle

stname = inpub{“enter name")

stmarks = int{input {"enter marks™))

stdict = |"Name” : stname, "Marks” : stmarks)
# line 1

# line 2

# line 3

# line 4

print (r)
if f[“marks”] >=85 :
print{“eligible tor scholarship™)
else
print{“not eligible for scholarship™)

Use with statement and identify correct code to open the created file for reading in 1 for line 3,

(1)  with open(”student.dat”™,"rb") as f1 ;
(2} with open(”student.dat”) as {1 :

(3)  with open(“student”) as 1 :

(4) with open{”student.txt”) as f1 :

Options :

212807114769. 1
212807114770.2
212807114771. 3
212807114772. 4

Question Number : 188 Question Id : 21280728693 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

collegedunia:



A = Frefefan agn w12 T wn = T el & T (m, ) #2092 e aEad wEa

student.dat. ¥ =7 7|

import pickle

stname = input“enter name")

stmarks = int{input {(“enter marks"}))

stlict = |“Name” ; stname, “"Marks” ; stmarks]
# line 1

# line 2

# line 3

# line 4

print (r}
if r["marks”] >=85:

print{“eligible for scholarship™)
else :

print{”m:t a-]igi]:l]u for :-:':.'hl"lla'l"‘.*ih[l:l”:l

With F99 =1 T8M 2 91 1 0 930 3 F 90 0 ™ wEa 1 724 F o0 '@e F Ol HE A

TR
(1)  with open{"student.dat”,"rb") as f1 :
(2)  with open{”student. dat™) as f1 :
(3)  with open("student™) as 1 :
(4) with open(”student.txt”) as f1 :
Options :
212807114769. 1
212807114770. 2

212807114771. 3
212807114772. 4

Question Number : 189 Question Id : 21280728694 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Qcollegedunias

-



Arjun has been given following incomplete code, which Ekes a student dekails (name, marks)

and writes into a binary file student.dat.

rmport pickle

stname = inpub{“enter name")

stmarks = int{input {"enter marks™))

stdict = |"Name” : stname, "Marks” : stmarks)
e # line 1
ey # line 2

: # line 3

et # line 4

print (r)

if f[“marks”] ==85 :
print{“eligible tor scholarship™)

else :
print{“not eligible for scholarship™)

Complete code for line 4 to read the contents into a dicionary r:

(1) == pickleload{fl)
(2} pickleload(fl) =r
(3) £l = pickleload(r)
(4) pickledoad(r) =11

Options :

212807114773. 1
212807114774. 2
212807114775. 3
212807114776. 4

Question Number : 189 Question Id : 21280728694 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

collegedunia:



w3 =t Frfafam vy w2 fam v o T el & faam (Am, i) #1aen 8 o A wee

student.dat. T T&7Em 7

import pickle

stname = input“enter name")

stmarks = int{input {(“enter marks™}))

stdict = ("Name” ; stname, “Marks” ; stmarks]
# line 1

# line 2

# line 3

# line 4

print (r}
if r["marks”] >=85 :

print{“eligible for scholarship™)
else :

print{"not eligible for scholarship”)

v ¢ F fawre v ¥ fow e 4 fem gl 9
(1)  r= pickleload(fl)
(2) pickleload(fl) =r
(3) f1 = pickle.load{r)
(4) pickleload(r) = fl

Options :

212807114773. 1
212807114774. 2
212807114775. 3
212807114776. 4

Question Number : 190 Question Id : 21280728695 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

&collegedunias

-



Arun has been given tollowing incomplete code, which Ekes a student details (name, marks)

and writes into a binary file student.dat.
import pickle
stname = inpuk“enter name")
stmarks = int{input (“enter marks"))
stdict = ["Nama"™ : stname, “Marks”™ : stmarks)

# line 1

# line 2

: # line 3
# line 4

print (r)
if f["marks”] >=H5:

print"eligible for scholarship™)
else ;

print{"not eligible for scholarship™)

If we give value of name as Arun and marks as 86 then the outputis:
(1) {'Mame" Arun’,' Marks =88}
(2} {{Name: Arun}. {Marks:56})
eligible for scholarship
(3y {'Name" Arun’,Marks"86}
eligible for scholarship
(4) eligible for scholarship
Options :
212807114777. 1
212807114778. 2

212807114779. 3
212807114780. 4

Question Number : 190 Question Id : 21280728695 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

collegedunia:




3197 1 Frefafan ayn #1E o wn S T el & T (AW, siE) = A AR e

student.dat. T T&7@m 7|
import pickle
stname = input{“enter name")
stmarks = int{input {(“enter marks"}))
stdict = ("Name” ; stname, “Marks” ; stmarks]
: #line 1
# line 2
# line 3
# line 4

print (r)
if r[“marks”] >=85 :

print{“eligible for scholarship™)
else:

print{”not eligible tor scholarship™)

afe TH T i Arun FW marks F186 WF T85F HE T SAEIE E00

(1) {'MName” Arun’,"Marks'=86)

(2] {{Mame: Arun},|Marks:56))
eligible for scholarship

(3 {Name:" Arun’,"Marks":86)
eligible for scholarship

(4) eligible for scholarship

Options :

212807114777. 1
212807114778.2
212807114779. 3
212807114780. 4

Sub-Section Number : 3
Sub-Section Id : 2128072091
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 191 Question Id : 21280728696 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

collegedunia:



st Angles school at Mumbai 1s setting up the network between its different wings of school
campus. There are 4 buildings named Senior(S), Junior(]), Admin(A) and Hostel{(H).

Senior Junior
1S) 1)
Admin Hostel
(A) (H]
Distance between various wings No, of computers in each wing
AtoS 100m wing A 20
Ato] 110m wing 5 150
AtoH 400m wing | =1L
Sto] 300m wing H 25
SteH 170m
lte H Blm
Sugpest the most suitable place o house the server :
(1) Hostel
i2)  Tunior
(3}  Admin
(4) Senior
Options :

212807114781. 1
212807114782.2
212807114783. 3
212807114784. 4

Question Number : 191 Question Id : 21280728696 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

Qcollegedunias

-



o2 F1 T2 ool TFe A0 e 9 s i F e et el s wm v F i s),
SR (1), T2 (A) o7 #EE (1) T F 4 3§

Senior Jumnior
(=) (I
Admin Hostel
(A) (H)
i RE e e el T 57 H e it v
AtoSs 100m wing A 20
Ato] 110m wing 5 150
AtoH 400m wing | 50
S ko | 300 m wing H 25
StoH 170m
JtoH Blm

T B T W o e wes s T e T

(1) B
(2) FFPR
(3) wusf
(4)  Hif
Options :

212807114781. 1
212807114782.2
212807114783. 3
212807114784. 4

Question Number : 192 Question Id : 21280728697 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

&collegedunia;

-



st Angles school at Mumbai 15 setting up the network between its different wings ot school
campus. There are 4 buildings named Senior(S), Junior(J), Admin{A) and Hostel{(H).

Senior Junior
() (I}
Admin Huostel
(4) (H)
Distance between various wings Mo, of COom pubers in each wf:ng
AtoS 100m wiug A 20
M t-::u] 110m wing‘i 150
AtoH 400m wing | 50
Sto] 300m wing H 25
StoH 170m
Jto H Hlm

Select the device that should be installed so that the signals when transmitted between the wings
pet regenerated.

(1) Repeater
(2} Switch
(33 Modem
(4) Firewall

Options :

212807114785. 1
212807114786. 2
212807114787. 3
212807114788. 4

Question Number : 192 Question Id : 21280728697 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp2

Qcollegedunias

-



e &1 He Usied Thel 997 T Wi F fafu= fHrm 3 de tead w0 @ 2w | i ),
SR (7), T2 (A) S FPEE (H) T H 4 70

Senior Junior
(5) (N
A dmin Hostel
(A) (H)
fafir= foma = v g0 T fom o g w5 dem
AtoS 100m wing A 20
Ato] 110m wing 5 150
AtoH 400m wing | 50
5 o | 00 wing H 25
Sto H 17
Jto H Bllm

FH TR T4 it Fas 3 T i o G 5 aw Sl foues = 5= @1 T

qAarde & H

1y Toder
(2y fT==
(3) HrEw
(4) A
Options :

212807114785. 1
212807114786. 2
212807114787. 3
212807114788. 4

Question Number : 193 Question Id : 21280728698 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension Comp2

&collegedunia;

-



st Angles school at Mumbai 1s setting up the network between its different wings of school
campus. There are 4 buildings named Senior(S), Junior(]), Admin(A) and Hostel{(H).

Senior Junior
1S) 1)
Admin Hostel

(A) (H]

Distance between various wings No, of computers in each wing
AtoS 100m wing A 20
Ato] 110m wing 5 150
AtoH 400m wing J =1L
Sto] 300m wing H 25
SteH 170m
Jto H Hlm

Should be installed in wing 5 in order to ensure data security for the entire network.
(1) TRouter
(2) Gateway
(3)  Firewall
(4) Modem

Options :

212807114789. 1
212807114790. 2
212807114791. 3
212807114792. 4

Question Number : 193 Question Id : 21280728698 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

'Value

Comprehension

Comp2

Qcollegedunias

-



e &1 He Usied Thel 997 T Wi F fafu= fHrm 3 de tead w0 @ 2w | i ),
T (1), T2 (A) A7 FE=A (H) T H= 4 T g

Senior Junior
(5) (N
A dmin Hostel
(A) (H)
fafr=t i & W h e i e ) wE
AtoS 100m wing A 20
Ato] 110m wing 5 150
AtoH 400m wing | 50
5 o | 00 wing H 25
Sto H 17
Jto H Bllm
wogl e & T s e R SRR qhee F0 % fae Hr s et o W
= |
(1) 7=
(2) T=A
(3) RrETEE
(4) =
Options :

212807114789. 1
212807114790. 2
212807114791. 3
212807114792. 4

Question Number : 194 Question Id : 21280728699 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

&collegeduniaé

-



st Angles school at Mumbai 1s setting up the network between its different wings of school
campus. There are 4 buildings named Senior(S), Junior(]), Admin(A) and Hostel{(H).

Senior Junior
IS) 1)
Admin Hostel
(A) (H)
Distance between various wings No. of computers in each wing
AtoS 100m wing A 20
A b0 ] 110m wing 5 150
AtoH 400m wing J =1L
Sto] 300m wing H 25
StoH 170m
JtoH Bllm
Mame the type of network if all the wings are connected ?
(1) STAR
(2) TLTAN
(3)y BUS
(4) MAN
Options :

212807114793. 1
212807114794.2
212807114795. 3
212807114796. 4

Question Number : 194 Question Id : 21280728699 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

Qcollegedunias

-



o2 F1 T2 ool TFe A0 e 9 s i F e et el s wm v F i s),
SR (7), TETAA (A) &0 TR (H) T 4 390 7

Senior Jumnior
(S) {0
Admin Hostel
(A) (H)
fafi= fors woe fan H S it He
AtoSs 100m wing A 20
Ato] 110m wing 5 150
AtoH 400m wing | 50
S ko | 300 m wing H 25
StoH 170m
JtoH Blm

af @it foim =12 7u ¥ Sieerh % WER T T

(1) %R
(2] =
(3 ==
(4) A
Options :

212807114793. 1
212807114794.2
212807114795. 3
212807114796. 4

Question Number : 195 Question Id : 21280728700 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension Comp2

&collegedunia;

-



st Angles school at Mumbai 15 setting up the network between its different wings ot school
campus. There are 4 buildings named Senior(S), Junior(]), Admin{A) and Hostel(H).

Senior Junior
13) ()
Admin Hostel

(A) (H)

Distance between various wings No. of computers in each wing
Ato3 100m wing A 20
Ato] 110m wing 5 150
AtoH 400m wing | 50
Sto] A00m wing H 25
StoH 170m
Jto H Rlm

Choose the device used to form multiple devices /computers together tor communication in each

of the wings :
(A} Switch
(B) Hub

(C) Modem
(D}  Repeater

Choose the correct answer from the 11pliun:5 5'11.111 below :

(1) (A} and (B) only

(2) (O and (I} only

(3) (A) (B). (C) and (1) only
(4) (C) only

Options :

212807114797. 1
212807114798.2
212807114799. 3
212807114800. 4

Question Number : 195 Question Id : 21280728700 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

&collegedunias

-



s 1 He Uwer Thel A T Wi F fafes o ¥ A e wnfe aw @ g aimm | i @),
SR (1), T (A) SR FEE (H) T 4 T E

Senior Jumior
(=) )]
Admin Hostel
(A) (H)
fafa= ffm & w01 T T e F Hew
At 100m wing A 20
Ato] 110m wing 5 150
AtoH 400m wing | 50
St | A00m wing H 25
StoH 170m
JtoH Elm

TH TIFAT = =99 Hita Faeem I ww 50§ w1 ﬁ‘iﬁqaﬁfmﬁmﬂ _"'m@maw‘ Il-.Ef
BRI
(A) fe

(B) T
(C) HiEn
(D) frdtem

=9 o o faeredi 8 O Wl T O 99E Hifa
(1) o (A) 3R (B)

(2) = (C) ¥R (D)

(3) == (A), (B), (C) #i (D)

(4) =FEE (C)

Options :
212807114797. 1
212807114798. 2

212807114799. 3
212807114800. 4

Sub-Section Number : 4
Sub-Section Id : 2128072092
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 196 Question Id : 21280728701 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value
collegedunia:

-




|Comprehension |MCQ3

hatch List - [ with List - I
List -1
(A} Tiles of books in the library
(B) Interactive voice response system

(€} Checking a given string is palindrome or not

(D} Nonelinear data structure

(1)

(1)
(1)
(TV)

Choose the correct answer from the options given by -

(1) (AL, (B)-0), (O-I1Y, (D}(IV)
(2} (A, (BI), (C)-(11), (D}IV)
(3} (A, (B-(IV), (C)-(I1), (D)=(T)
(4) (AR, (BHIVY, (C)-(1), (D)(1)

Options :

212807114801. 1

212807114802. 2

212807114803. 3
212807114804. 4

List - 11
DEQUE
TREE

STACK
QUEUE

Question Number : 196 Question Id : 21280728701 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3
it F -1 & e s

qEt-1
(A) TEETEE | TR
(BY  9AEgHeR o= wfafs W
(C) e Tn Tadmue § o1 =67 5! = A
(D) #-TEE AHE =

A fau o faeni d 4 Wil T = == Fife

(1) (AW, B)-(), (CH-(LD, (D}-(IV)
(2) (A, (BID, (O-(, [D)-(IV)
(3 (AT, (B)-IV), (C)-(I1), (D)-(T}
(4) (AW, (BIIV), (©)-0), (DH()

Options :

212807114801. 1
212807114802. 2
212807114803. 3
212807114804. 4

(m
(1) =&

(V) =4

Question Number : 197 Question Id : 21280728702 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :
Key 'Value |
Comprehension MCQ3 '

&collegedunia;

-



Match List - T with List - T

List - 1 List - I1
(A) Where (I}  Create table
(By DDL (I} Tattern matching
(€} DMultirow function (I} Clause
(D} % (TW) Max( )

Choose the correct answer from the ophions given below :
(1) (A)-(IID), (B)-{D), (C)-(IV), (D)-{I)

(2) (A, (B)-(T), (C)-(III), (D}-(TV)

(3 (A)TV), (B)-(II1), (C)=(1), (D)-(I0I)

(4)  (AMD, BHI), (C-AV), (D))

Options :

212807114805. 1

212807114806. 2

212807114807. 3
212807114808. 4

Question Number : 197 Question Id : 21280728702 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3
TeEit-1 § -1 F e it

-1 -1
(A} Where G GE K RIE]
(B) DDL (I} wfaey fem
(C) el T & (111} =w=FIg
Dy % (IV) Max( )

== fan o faseai O O o 39 = =99 Fifen -

(1) (AT (BHI), (CH(IV), (D))
(2)  (A)I) (B)-(), (C)-(), (D}(IV)
(3}  {A)-IV), (B)-(III), (C)-(1), (D)-(II)
(4) (A (BRI, (C-(TV), {IN-(11)

Options :

212807114805. 1
212807114806. 2
212807114807. 3
212807114808. 4

Question Number : 198 Question Id : 21280728703 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

&collegeduniaé

-



Which is the source of a recorded data in a well detined tormat 7
(1) Audio/ Video files
(2) Social media messages
(3] MNews paper
(4) Depositing fee in a school
Options :
212807114809. 1
212807114810. 2

212807114811.3
212807114812. 4

Question Number : 198 Question Id : 21280728703 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

UE T BN gieais st O Hufed aiesl e Em SE e 7
(1) stifeaitea v

(2) Eme Hifem Haw

(3)  THET 9H

(4) Tt P A o =m0 =4

Options :

212807114809. 1
212807114810. 2
212807114811.3
212807114812. 4

Question Number : 199 Question Id : 21280728704 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

L
|
* =}

In the given hist | 10 | 9 | 4 [ 2] what do you think is the best techmique to

search an element ;
(1) Linear search
(2] Binary search
(3] Bubble sort
(4) Collision

Options :

212807114813. 1
212807114814.2
212807114815.3
212807114816. 4

Question Number : 199 Question Id : 21280728704 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
IKey Value

collegedunia:




|Comprehension |MCQ3

SMEEE (10| 9 | 4 [21| 5 |7 |8 |6FE = GF F g0 dFA4E ©

(1) &G =i
(2) ST EE
(3) == Gl
(4) ehiferer
Options :

212807114813. 1
212807114814.2
212807114815. 3
212807114816. 4

Question Number : 200 Question Id : 21280728705 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

used to avoid undertlow exception while performing dequeue operation.
(1) ISFULL
(2) ISEMTTY

(3) LIFO
(4) FIFOD
Options :

212807114817. 1
212807114818.2
212807114819. 3
212807114820. 4

Question Number : 200 Question Id : 21280728705 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3
eF A F T & Shm svetwel Avans | aee & fem w1 I T

(1) ISFULL
(2) TSEMPTY

(3) LIFO
(4) FIFO
Options :

212807114817. 1
212807114818.2
212807114819. 3
212807114820. 4

Informatics Practices

Section Id : 212807731
Section Number : 3

collegedunia:




Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Online
Optional
35

2128072093
Yes
null

Question Number : 201 Question Id : 21280728706 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4
Mhatch List - T with List - 11

List - 1 List = 1
(A) Constraint () Clause
(B} DDL (I} Operator
(C} Where (I} Alter table
(D} Like (IV) Default

Choose the correct answer from the options given below :
(1) (A)-(IV), (Bi-(II), (C)-(T), (D)-(IID)
(21 (A=Y (B)-(TID, (C)=(1, (TN-(11)
(3 (A, (BRI, (C)-(IV), (D)-(T1I)
(4 (AL, (B)-(IV), (C)=(1), (D)-(1T)

Options :

212807114821. 1
212807114822.2
212807114823. 3
212807114824. 4

Question Number : 201 Question Id : 21280728706 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

collegedunia:



il # g1 =1 Toem Fifn
et -1l

(A} Constraint () ==
(By DDL (I} &A=
(C) Where (IlI) AT GHEED
(D} Like (V) Tawie

=+ feu wu faedl § 9 | T = =E Fife
(1) (A(IV), (B)-(1D), (C)-(1), (D)-(111)
(2)  (A)-(IV), (B)-(II}, (C)-(1), (D)-{II}
(3) (AN, (BHID, (C)-(IV), (D)-(III}
(4)  (A)-(II), (BHIV), (O], (DH(II)

Options :

212807114821. 1
212807114822.2
212807114823. 3
212807114824. 4

Question Number : 202 Question Id : 21280728707 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4

All aggregate funcbons ignore Null's except for function
(1) maxi )

(2) Count( « )

(3] Awel)

(4]  Sumf )
Options :
212807114825. 1
212807114826. 2

212807114827. 3
212807114828. 4

Question Number : 202 Question Id : 21280728707 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ4

TR o aAfafiee Tt T e A (Null) F T 4
(1) max{ )
(2) Count( + )
(3)  Avgl)

(4) Sumi )
Options :

212807114825. 1
212807114826. 2 .
collegedunia:

-




212807114827. 3
212807114828. 4

Question Number : 203 Question Id : 21280728708 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ4

In SOL, which of the following constraint means that no two values in any column should be the
same 7
(1) DISTINCI
(2) UNIQUE
(3) ORDER BY
(4) GROUP BY
Options :
212807114829. 1
212807114830. 2

212807114831. 3
212807114832. 4

Question Number : 203 Question Id : 21280728708 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

sOLY, Fedofmsshr s wmeTTdovd s o s gam = € 7
(1) DISTINCT
(3) UNIQUE
(3 ORDER BY
i4) GROUP BY
Options :
212807114829. 1
212807114830. 2

212807114831. 3
212807114832. 4

Question Number : 204 Question Id : 21280728709 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4
Fandas provide a function to check whether any value is missing or not in the Dataframe :

(1) «dfisNan{ )
(2) difIsNaN{()
(3) dflsNull{)
(4) diisnull{ )

Options :

212807114833. 1
212807114834.2
212807114835. 3

collegedunia:




212807114836. 4

Question Number : 204 Question Id : 21280728709 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

=2TR0 § % OF §[@ § 91 94 92 96 A F TAu uEm uE e

(1) dfasNan()
() dbIsMNaN( }
(3} didsNull )
(4) dfisnull{ )

Options :

212807114833. 1
212807114834.2
212807114835. 3
212807114836. 4

e =R % I

Question Number : 205 Question Id : 21280728710 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ4

refers to the process of changing the shape of the data set to make it suitable for

analysis.

{ Handle missing values

3 —_—

{
(3} Reshaping Data
{4) Ndim data

Options :

212807114837. 1
212807114838.2
212807114839. 3
212807114840. 4

}
I Importing amnd Exporting data

Question Number : 205 Question Id : 21280728710 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ4

#1 1 & e e & =WESNE F deasl Eemm 9 g9 B

(1) =F | 1 g

(2)  MATwE T AW 2
(3) SiFE T AL S
(4 Ndim mﬁ%

Options :
212807114837. 1
212807114838. 2

collegedunia:




212807114839. 3
212807114840. 4

Question Number : 206 Question Id : 21280728711 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

Library used to interact with MYS50L database by providing the required credentials,
(1)  pwsgl

(2} pandas

(3} sglalchemy

(4) dataframes

Options :

212807114841. 1
212807114842.2
212807114843. 3
212807114844. 4

Question Number : 206 Question Id : 21280728711 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4
STETEF VST 1 S0 S MYSQL 2ErEE § s F fom wemmaet
(1) |'|1.31L|_J
(2) pandas

(3] sqlalchemy
(4) dataframes

Options :

212807114841. 1
212807114842.2
212807114843. 3
212807114844. 4

Question Number : 207 Question Id : 21280728712 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4

The max( ) function of Pandas descriptive statistics axis = 1 gives,

(1) Row wise output

(2} Column wise output

(3} Both column and row wise output
(4) Axis is an invalid parameter

Options :

212807114845. 1
212807114846. 2
212807114847. 3
212807114848. 4

collegedunia:




Question Number : 207 Question Id : 21280728712 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

gz feforfza aifEme 298 1 9 max( ) F0F 923 #3402
(1) wiEaes e

(2) THTE AEEYZ

(3) i i1 whEs T e

(4) =% =% s oEE §

Options :

212807114845. 1
212807114846. 2
212807114847. 3
212807114848. 4

Question Number : 208 Question Id : 21280728713 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

Which of the tollowing commands is used to install Matplothb for coding 7
(1) import plt.matplotlib as plot
(2) import plobmatplotlib as pt
(3)  import matplotlibplt as plot

(4) import matplotlib pyplot as plt
Options :
212807114849. 1
212807114850. 2
212807114851. 3
212807114852. 4

Question Number : 208 Question Id : 21280728713 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ4

Frfafas o @ fFm w1 37am =ifén & o Matplotlib 35927 #37 & fog fFm sm 2 7
(
|

i

| mmpaort panuLk}ﬂuHil‘l as Fl]l.‘:‘t
2)  impaort plotmatplotlib as pt
(3) 1mport matplothib.plt as plot
(4) import matplotlib.pyplot as plt

Options :

212807114849. 1
212807114850. 2
212807114851. 3
212807114852. 4

collegedunia:




Question Number : 209 Question Id : 21280728714 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ4

Which graph is called "correlation plots” also
(1) Scatter chart

(2) Histogram

(3) Pie chart

(4]  Box plot

Options :

212807114853. 1

212807114854. 2

212807114855. 3
212807114856. 4

Question Number : 209 Question Id : 21280728714 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ4

fFg TTF 1 Fifene w=ie ot F8d 2 7
(1) #het =12

(2) Tewdmms

(3 g =9

(4] == w2
Options :

212807114853. 1
212807114854.2
212807114855. 3
212807114856. 4

Question Number : 210 Question Id : 21280728715 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

collegedunia:




Data Visualization helps in:

(A} Understanding results of analysis
(B) Connect to database

(C)  Perform operations on file

(D} Visualize variabion

(E} Show relation between variables
Choose the correct answer from the ophions given below :
(1) (A), (B) and (E) only

(2)  (A)., (D) and (E) only

(3 (C), (D) and (E) only

(4] (B), (D) and (E) only

Options :

212807114857. 1
212807114858.2
212807114859. 3
212807114860. 4

Question Number : 210 Question Id : 21280728715 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

Aiegl ST HERE O

(A} Ty & gfoms = aagE o
(B) EZEHEAEYH

(C) RIS W ST % weve % fem
(D) Tafawa =0 3@ o

(E) =i =t w5t fagr |
e fou T fasredi | 9 Wl I 1 =99 S
(1) e (A), (B) 311 (E)

(2) T (A), (D) #H (E)

(3) %A (C), (D) 3N (E)

(4) EH (B}, (D) X (E)

Options :

212807114857. 1
212807114858.2
212807114859. 3
212807114860. 4

Question Number : 211 Question Id : 21280728716 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value |
Comprehension MCQ4 1

collegedunia:




Presenting someons else’s idea or work as one’s own idea or work 1s called ;
(1) Copyright Infringement

(2)  Trademark Infringement

(3) Plagiarism

(4) Patent

Options :

212807114861. 1
212807114862.2
212807114863. 3
212807114864. 4

Question Number : 211 Question Id : 21280728716 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

37 F f=Ew T w5 T 3 5 O FEn e w1t = S €

(1) TRdEEZ * Fooio

(2) TEHFR T e

(%) iR
[4] GEr
Options :

212807114861. 1
212807114862. 2
212807114863. 3
212807114864. 4

Question Number : 212 Question Id : 21280728717 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

Which of the tollowing lets others distribute, remux, tweak and build upon your work even
commercially, as long as they credit you for original creation :
(1)  Attribution - Non commercial
(2)  Abtribubon - Share alike
(3)  Abtnbubtion
(4) Attribution - No Drivers
Options :
212807114865 1
212807114866. 2

212807114867. 3
212807114868. 4

Question Number : 212 Question Id : 21280728717 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
IKey Value

collegedunia:




[Comprehension [MCQ4 |
Ffotiad 5 3 M W 7 &l W9 &M & fFa, . f0em, F-aga 30 30E Jn W fm #
YN 20 T 96 o R oo = 0 W T T T S e e TS A EE

(1) TE=gEE - 1 =i

(2) U - WA S

(3) TEEEE
(4) HEEEA - N SEEH
Options :

212807114865. 1
212807114866. 2
212807114867. 3
212807114868. 4

Question Number : 213 Question Id : 21280728718 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

Which ot the tollowing s not an example of social madia 7
(1) Youtube

(2y Twitter

(3} Linux

(4) Facebook

Options :

212807114869. 1
212807114870.2
212807114871.3
212807114872. 4

Question Number : 213 Question Id : 21280728718 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4
= F & 9w A difen ' UE EmETm A E 7
(1) =
(2) T
(3) TR
(4] HEAE
Options :

212807114869. 1
212807114870. 2
212807114871. 3
212807114872. 4

Question Number : 214 Question Id : 21280728719 Question Type : MCQ Option Shuffling : No Is Question Mandat~»v - Na Calenlatar - Nona
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

collegedunia:




Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ4

Today E-waste become a major concern to the environment. To save the environment we should
avoid this practise :
(1} Dispose the E-waste to right place
(2)  We should try Reduce, Reuse, Recycle
(3) Dispose E-waste anywhere
(4) Always give waste to right recycler
Options :
212807114873, 1
212807114874. 2

212807114875.3
212807114876. 4

Question Number : 214 Question Id : 21280728719 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

T 2 s T F T v T2 aaen & vt Hwm F A e e O = i
(1) 3-wfooe =1 w86 = F

(2) B T9:0E0, T 9ET S G A e

(3)  E-ATIE T FE 9 ek oA 1Y

(4) I =i ) wE T A a

Options :

212807114873. 1
212807114874.2
212807114875.3
212807114876. 4

Question Number : 215 Question Id : 21280728720 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

In a noisy environment, the best ransmission medinm would be,
(1) Coaxial cable

(2) Twisted pair cable

(3)  Ophcal fibre cable

(4) Shielded co-axial cable

Options :

212807114877. 1
212807114878.2
212807114879. 3
212807114880. 4

collegedunia:




Question Number : 215 Question Id : 21280728720 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ4

U WA STara O WERO S TETae S whe

(1) FufFrEs Fae

(2) Teawz T FHaw

(3) if=Fe FEET Fa9
(4) Hives wuefrEas Hea

Options :

212807114877. 1
212807114878. 2
212807114879. 3
212807114880. 4

Question Number : 216 Question Id : 21280728721 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ4

Gagan wants o upload a text document at the rate of 20 pages per 10 seconds. What will be the
required data rate of the channel 7 {Assume the 1 page contains 1500 characters and each character
is of 8 hit).
(1)  23.44 Kbps
(2) 2225 Kbps
(3) 2330 Kbps
(4) 24.34 Kbps
Options :
212807114881 1
212807114882. 2

212807114883. 3
212807114884. 4

Question Number : 216 Question Id : 21280728721 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ4

A T TR EEEHE & 20 9 2 10 TEvE F1 e 9 e SO TR ) 36 S aEEE A 9
1 EE 7 (WA S 1 U T 1500 9§ A g 99 R e E)

(1) 23.44 Kbps

(2} 2225 Kbps

(3} 2550 Kbps

(4) 24.3 Kbps

Options :
212807114881. 1

collegedunia:




212807114882.2
212807114883. 3
212807114884. 4

Question Number : 217 Question Id : 21280728722 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

Physical address of a machine is a 7

(1y IP address

(2)  NIC (Network Interface card)

(3) MAC address (Medium Accoss Contral)
(4) DNS (Domain Name System)

Options :

212807114885. 1
212807114886.2
212807114887. 3
212807114888. 4

Question Number : 217 Question Id : 21280728722 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

Fort wyitays = ifas v & 7

(1) =H¥ uZF

(2) TANEH (Feadh F0F w1
(3) T TH (Hif=gq [ F49)
(4) e (g A fae)

Options :

212807114885. 1
212807114886. 2
212807114887. 3
212807114888. 4

Question Number : 218 Question Id : 21280728723 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

Which ot the tollowing is the type of sotbware that has self-replhicating sotbware that cause damage
to files and system ?

(1) Viruses

(2]  Trojan horses

(3) Spam

(4)  Worms

Options :

collegedunia:




212807114889. 1
212807114890. 2
212807114891. 3
212807114892. 4

Question Number : 218 Question Id : 21280728723 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

Ffafas H # M 91 1TE SRS &1 96 ¢ 91 55 il Wasiid S &1 Qieadl Ua & a1 & wEel J9
freg Fi i wEam & ¢
(1) 4L

(2) ZreEEE

(3)  HH
(4) =
Options :

212807114889. 1
212807114890. 2
212807114891. 3
212807114892. 4

Question Number : 219 Question Id : 21280728724 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ4

Identity the virus from the tollowing
(1) Sasser

(2} Sobig

(3] Kevlopgper

(4) Code Red

Options :

212807114893. 1
212807114894. 2
212807114895. 3
212807114896. 4

Question Number : 219 Question Id : 21280728724 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

= # & =g = i

(1) Sasser

(2} Sobig

(3) Keylogger

(4) Code Red

collegedunia:




Options :

212807114893. 1
212807114894.2
212807114895. 3
212807114896. 4

Question Number : 220 Question Id : 21280728725 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ4

Which ot the tollowing is/are false 7
(A} Computer viruses are healthy codes written to test the security health of a system

(B) A worm is self replication of a program

(C)  Trojan horse is a atility program that does harm when its date is expired

(D) Spyware is a healthy software which keeps an eye on activities happening on your computer
Choose the correct answer from the options given below :

(1)  (A), (B) and (C) only

(2}  (B) and [C) only

(3)  (B), (L) and (D) only

(4)  (A) (C) and (1)) only

Options :

212807114897. 1
212807114898.2
212807114899. 3
212807114900. 4

Question Number : 220 Question Id : 21280728725 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

= # O =7 ma Tem BE 7

(A) "oy arE fasen & g e w5 S| 50 & for ford e e €

(By & fadi vrmm & s uiregm 2

(C) 219 w15 ek I9EI] W & S 9 S dEW 2 o el qgen

(D) ISR U TR HiRAT # S R e I W et s u e v
== fau o fasmedl 7 ¥ W T F1 w9 it ;

(1) & (A), (B) 3 (C)

(2) e (B) &7 (C)

(3) = (B), (C) 31 (D)

(4) @ (A), (C) 3 (D)

Options :

212807114897. 1
212807114898.2
212807114899. 3

collegedunia:




212807114900. 4

Sub-Section Number : 2
Sub-Section Id : 2128072094
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 221 Question Id : 21280728726 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp3

Given Datatrame, dt ;

State Geographical_Area | Area_under_dense_forest
1 Manipur 7B43B 2797
Row Index| 2 Delhi 1483 B.72
3 Kerala 38852 1663
4 |Tamil Nadu 40609 1904

Based on the above data, solve questions :

Identify the meaning of the given python code with respect to the given dataframe, df
df = df.drop(|'State *], axis = 1)
(1} The given code statement has an error
(2) The given code statement is able to delete the State column and shows the rest dataframe
(3) The given code statement makes the empty dataframe
(4) The given code remove duplicate rows from the datatrame
Options :
212807114901 1
212807114902. 2

212807114903. 3
212807114904. 4

Question Number : 221 Question Id : 21280728726 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp3

collegedunia:




=T fom T 2 di -

Fow Index

State Geographical Area| Area under dense forest
1 Manipur 7B435 2797
z Delhi 1483 6.72
3 Kerala 38852 1663
4 |Tamil Nadu 406949 1904

I HFD F JHE W TR S 2

fegt 4 2=ren & T o f5F 79 URYE wE & a3 F Uiy - df

df = df.drop([State ], axis = 1)

(1) T m@=Esmy g
(2) fem T FrE 9 State T # foeie F1 & 9w Eawien W fam A mam
(3 Tem wn s wm we figa Seney T g

(4) T o wre wiewsion dfeEl = 2oie | w2 1)

Options :

212807114901. 1
212807114902. 2
212807114903. 3
212807114904. 4

Question Number : 222 Question Id : 21280728727 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp3

Given Dataframe, df ;

Row Index

State Geographical _Area | Area_under dense_forest
1 Manipur TRAZR 2797
2 Dethi 1483 6.72
3 Kerala 38852 1663
4 |Tamil Nadu 4{16949 1004

Based on the above data, solve questions :

Identify the correct code to set the Geographical area of all states to 70000 :
(1) dfloc[State] = 70000
(2)  df['State’,:] = 70000
(3 dif'State’] = 70000

(4) di[ Geographical_Area’] = 70000

Options :
212807114905. 1
212807114906. 2

Qcollegeduniag

-



212807114907. 3
212807114908. 4

Question Number : 222 Question Id : 21280728727 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp3

ot femn T 2 df -

Row

State Geographical Area| Area under dense forest
1 Manipur FHAZR 2707
Index| 2 Dethi 1483 6.72
3 Kerala 36852 1663
4 |Tamil Nadu 40699 1904

THEF HFE % YR W J w5 T W

Tt States F Geographical Area T 70000 W #2 =991 & fom = Sz =1 799

(1)
(2]
(3)
(4]

Options :

df loc[State] = 70000
di['State’,:] = F0000
df['State’] = 70000

df['Geographical_Area’] = 70000

212807114905. 1
212807114906. 2
212807114907. 3
212807114908. 4

Question Number : 223 Question Id : 21280728728 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp3

collegedunia:



Given Dataframe, df ;

Eow Index

State Geographical_Area| Area_under_dense_forest
1 Manipur 7H438 2797
2 Dethi 1483 6.72
3 Kerala 38852 1663
4 |Tamil Nadu 4{1694 1904

Based om the above data, solve questions

Identify the error that shows on the screen while executing the given code
di.loc[?] = ['Meghalaya’, FD000]
(1) Walue Error : Length of values does not match length of mdex
(2)  Value Error : Cannot set a row with mismatched columns

(3)  Walue Error : Too few parameters

(4) Value Error : Enough values

Options :

212807114909. 1
212807114910. 2
212807114911.3
212807114912. 4

Question Number : 223 Question Id : 21280728728 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Comp3

=oTnn femn T 2 df -

Row Index

State Geographical Area | Area under dense_forest
1 Manipur 78438 2797
2 Dethi 1483 6.72
3 Kerala 38852 1663
4 |Tamil Nadu 40694 1904

IHF ARG & HHE W] B w

ﬁ-"-’rTri‘r qﬁaﬁ?fm«mw%ﬂﬂﬂﬁﬁhﬁﬁiﬁhﬂﬁ'ﬁﬁﬁﬂﬁ:

di.loc[5] = ['Meghalaya', 70000]

(1Y WValue Error : |..erngl'h of values does not match JEI:IE"rt].'I of mdex

(2Y  Value Error : Cannot set a row with mismatched columns

(3) Walue Error : Too tew parameters

(4) WValue Error : Enough values

Options :
212807114909. 1

Qcollegeduniag

-



212807114910. 2
212807114911.3
212807114912. 4

Question Number : 224 Question Id : 21280728729 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

Comp3

Given Dataframe, df :

State Geographical _Area | Area_under_dense_forest
1 Manipur 7RA3ZR 2797
Row Index| 2 Delhi 1483 6.72
3 Kerala 38852 1663
4 |Tamil Nadu 4{16949 1904

Based on the above data, solve questions

|-lu:|1.tif_'..' the correct code to lJ.i.!-.i'Fl]iL:l.' Area under dense forest column.

(1) dbflocl: ., “Area_under_dense_forest’ |

(2) dfloc]2]

(3) dEloc[ Area under_dense_forest']

(4) df[Area_under_dense_ forest]

Options :

212807114913. 1
212807114914.2
212807114915. 3
212807114916. 4

Question Number : 224 Question Id : 21280728729 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp3

collegedunia:



=T fom T 2 di -

Row Index

State Geographical Area | Area under dense_Forest
1 Manipur 78438 2797
2 Dethi 1483 0.7 2
3 Kerala 38852 1663
4 |Tamil Nadu 40699 1904

I WIS & HE W T H T W

Area_under dense forest T8 1 W2l w07 F o =@t w2 1 W=

(1)
(2)
(3)
(4]

Options :

212807114913. 1
212807114914.2
212807114915. 3
212807114916. 4

df.loc[: . “Area_under_dense_forest']
df loc|2]

diloc[ Area_under dense forest')
df[Area_under_dense_forest]

Question Number : 225 Question Id : 21280728730 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp3

Given Dataframe, df :

Row Index

State Geographical _Area | Area_under_dense_forest
1 Manipur FRA3E 2797
2 Delhi 1483 072
3 Kerala 38852 1663
4 |Tamil Nadu 41694 1604

Based on the above data, solve questions

Find the oubput for

(1)
(2

Geographical_Area 38852

df loc] Kerala'|>30000 :
Geographical_Area 38852

Area under dense forest 1663

(3)

Geographical Area True

Area_under_dense_forest False

(4)
Options :
212807114917. 1

Kerala 38852

Qcollegeduniag

-



212807114918.2
212807114919. 3
212807114920. 4

Question Number : 225 Question Id : 21280728730 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp3

=amRy fem e 2 i -

State Geographical_Area | Area_under dense_Forest
1 Manipur 7B435 2797
Row Index| 2 Delhi 1483 6.72
3 kerala 38852 lakd
4 |Tamil Nadu 40699 1004

FHEF HIEE 5 YR WA S 6 W

-

df loc[" Kerala'|=30000 &1 #HEZ{Z TP 7
(1) Geographical Area 38852
(2) Geographical Area 38852

Area_under dense forest 1663
(3) Geographical Area True

Area_under_dense_torest False
(4) Kerala 38852

Options :

212807114917. 1
212807114918.2
212807114919. 3
212807114920. 4
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

3
2128072095
No

null

Question Number : 226 Question Id : 21280728731 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp4

collegedunia:



Vrmda enterprises is planming to setup a secure network in Dethi for its web based activities, Tt is
having 4 buildings, Answer the questions that follows based on the information given below,

Delhi Office
Block Block
A B
Block Block
C D

Distance between buildings

No, of Computers

As a computer expert sugjest the bwest Fl]':lu;_'u o hoise the server,

(1)  Black A
(2} Block B

(3 Block C
4y Block D
Options :

212807114921. 1
212807114922.2
212807114923. 3
212807114924. 4

Block Computers
Atob 40 m A 5
BitoC a0 m B B0
Ctoly 125 m ki 150
AtoD 102 m D 35
Bto D 190 m
At 162 m

Question Number : 226 Question Id : 21280728731 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp4

collegedunia:



2] UrTETEa 3794 A9 smnfiE T & o faeet | v g S i w9 @ A 9w

BH T 4 §AE ¥ S 9 e S SEE TS Wl R S A

Delhi Office
Block Block
A B
Block Block
C D

Distance between buildings

No. of Computers

U FegEt faireg & A0 W e A & e e e s wen gt

(1} & i A
(2) =AFB
(3) =HF C
(4) == D
Options :

212807114921. 1
212807114922.2
212807114923. 3
212807114924. 4

Block Computers
AtoB 40m A 25
Bio C all m B 50
CtoD 125 m C 150
AtD 102 m D 35
Bto D 190 m
AtoC 162 m

Question Number : 227 Question Id : 21280728732 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

'Value

Comprehension

Comp4

&collegedunia;

-



Vrmnda enterprises is planming to setup a secure network in Dethi for its web based activities, Tt is
having 4 buildings, Answer the questions that follows based on the information given below,

Delhi Office
Block Block
A B
Block Block
Z D

Distance between builldings

No, of Computers

Block Computers
AtoB 40 m A 25
BtoC 6 m B 50
CtoD 125 m C 150
AtoD 102 m D 35
Bto D 190 m
AtbC 162 m

Which network security system should be installed that monitors and contrels incoming and

outgoing network tratfic based on predetermined security rules,

(1} Spyware
2y Cookie
(3) Spam

(4) Tirewall

Options :

212807114925. 1
212807114926. 2
212807114927. 3
212807114928. 4

Question Number : 227 Question Id : 21280728732 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp4

collegedunia:



w1 UV 3794 A ST Tt i e feeet o vk wfem e wafta e # O | Tm

79 T 4 0D T A= T g R e W 2 S w39 e

Delhi Office
Block Block
A B
Block Block
C 0

Distance between buildings

No, of Computers

Block Computers
AtoB 40 m A 25
Bto C el m B B0
Cto D 125 m K 150
AtoD 102 m D 35
Bto D 190 m
AtoC 162 m

75 fraifa wran fam! = smafta e eas o 3 91 $eie T s aifen s T e iR s

e AR & At s e w59
(1) FTEaw

(2) FH

(3) |

(4) TRTETHI

Options :

212807114925. 1
212807114926. 2
212807114927. 3
212807114928. 4

Question Number : 228 Question Id : 21280728733 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

'Value

Comprehension

Comp4

Qcollegedunias

-



Vrmda enterprises is planming to setup a secure network in Dethi for its web based activities, Tt is
having 4 buildings, Answer the questions that follows based on the information given below.,

Delhi Office

Block

Block

Block
B

Block

Distance between builldings

No, of Computers

Block Computers
AtoB 40 m A 25
BtoC 6 m B 50
CtoD 125 m C 150
AtoD 102 m D 35
Bto D 190 m
AtbC 162 m

The company is planning to open an office in London, which network will be established if the

London based office is connected with Delld office.

(1) LAN

{2y MAN

(3) TPAN

4y WAN
Options :

212807114929. 1
212807114930. 2
212807114931. 3
212807114932. 4

Question Number : 228 Question Id : 21280728733 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

'Value

Comprehension

Comp4

&collegeduniaé

-



Ha1 UrETEEeE 319 A s T o e feeett o v wifim ek wofte e @ O an Tm g

79 T 4§01 A= 2 T g2 R e W A S ul s 39 e

Delhi Office
Block Block
A B
Block Block
Z D

Distance between buildings

No, of Computers

Block Computers
AtoB 40m A 25
BtoC 6l m B 50
Cto DD 125 m C 150
AtwD 102 m D C i)
Bto D 190 m
AtoC 162 m

O Fan B T e Wi e a9 e 9 v fm wiew Tt s S aEr e
A |1 2= renfe g 2

(1) LAN
() MAN
(3) TPAN
(4) WAN

Options :

212807114929. 1
212807114930. 2
212807114931. 3
212807114932. 4

Question Number : 229 Question Id : 21280728734 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

'Value

Comprehension

Comp4

&collegedunias

-



Vrmda enterprises is planming to setup a secure network in Dethi for its web based activities, Tt is
having 4 buildings, Answer the questions that follows based on the information given below,

Delhi Office
Block Block
A B
Block Block
C D
No, of Computers
Distance between buildings
Block Computers
AtoB 40 m A 25
Bto C allm B B
CtoD 125 m C 150
AtoD 102 m D 35
Bte D 190 m
AtoC 162 m

The device which is mounted on the motherboard of computer and wsed to set up a wired network,
It acts an interface bebtween computer and network. The best option for the above defined network
device will be -

(1) TRepeater

(2) TRouter

(3} Ethernet card

(4) Modem

Options :

212807114933. 1
212807114934.2
212807114935. 3
212807114936. 4

Question Number : 229 Question Id : 21280728734 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp4

collegedunia:




Ha1 UrETEESS 319 A s T o f feeett Ff v grfie tead wnfte e = e a2
B8 T 4 gURA F) A 9 T gEel F e |1 oA 9 # 3 Efa

Delhi Office
Block Block
A B
Block Block
C D
No. of Computers
Distance between builldings
Block Computers
AtoB 40 m A 25
Bto C 6l m B =0
CtoDD 125 m C 150
AtoD 102 m D 33
Bto D 190 m
AtoC 162 m

ae feamaEs o 7 Tl & AEtEE T fEm g6 § R TR eas F i 1A S A 5w e

# 1 7% T 00 Yok U fOhE F w0 O S w1 | Iuias oo Sz feae & fom wEm

ﬁlﬁq?ﬂ'ﬂ
1y figrer
(2) I

(3) 3UTFE e
(4) HrEW
Options :

212807114933. 1
212807114934.2
212807114935. 3
212807114936. 4

Question Number : 230 Question Id : 21280728735 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp4

&collegedunias

-



Vrmda enterprises is planming to setup a secure network in Dethi for its web based activities, Tt is
having 4 buildings, Answer the questions that follows based on the information given below,

Delhi Office
Block Block
A B
Block Block
C D

Distance between buildings

No. of Computers

Block Computers
AtoB 40 m A 25
BtoC 6l m B &0
CtoDd 125 m e 150
AtoD 102 m D 35
Bto D 190 m
AtoC 162 m

Suggest the placement of Repeater bebween which bwo Blocks.

(A) Aand B

(BY Cand D
(C) Aand D
(D) BandC

Choose the eorrect answer from the ﬂp'r.'u_‘nm giw‘rn bedovar :
(1)  {A) (B) and {C) only
(2)  (A) (B). (C) and (D)

(3)  (B) and (C) only
(4)  (A) and (B) only

Options :

212807114937. 1
212807114938. 2
212807114939. 3
212807114940. 4

Question Number : 230 Question Id : 21280728735 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp4

&collegedunias

-
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Delhi Office
Block Block
A B
Block Block
47 D
Distance between buildings s, i
Block Computers
AtoB 40m A 25
BtoC 6l m B B0
Cto D 125 m e 150
AtwD 102 m D 35
Bto D 190 m
AtoC 162 m

firm & =iiw1 % 9t fodter & T3 ST oee &0 7
(A) A SR B

(B) C 3D

(Cy A#FRD

(D) BarC

4 feu wu fammedl § 9 Wl IO 1 99 Hifao
(1) A (A), (B) 31 (C)

(2)  (A). (B), (C) ¥ (D)

(3) = (B) #R (C)

(4) =R (A) SR (B)

Options :

212807114937. 1

212807114938.2

212807114939. 3

212807114940. 4

Sub-Section Number : 4
Sub-Section Id : 2128072096

Question Shuffling Allowed : Yes
&collegedu nia
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null

Question Number : 231 Question Id : 21280728736 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ5

Mohan wants to display all the attributes and all the taples of the table "Teacher’, help him to
choose the correct SOL statement ;

(A} Select % from teacher ;
(B Select from teacher ;
(C) Select all from teacher ;
(D) Select * from teacher ;

Choose the correct answer from the upﬁunﬁ ﬂiw:n bealoww

(1) (D) only

(2] (A)and (B) only

(3)  (B), (C) and (D) only
(4] (A) (B) and (D) only

Options :

212807114941. 1
212807114942.2
212807114943. 3
212807114944. 4

Question Number : 231 Question Id : 21280728736 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ5

g ‘Teacher', T Tfch & T4 USagag 30 20e0 = v2fda S SO & O SQL #E o A

TR HEEA

(A) Select % trom teacher ;
(BY Select from teacher ;
(C) Select all from teacher ;

(D) Select * from teacher ;

e fem o fammedl § 9 W& =9 1 999 S0

(1) #F=a (D)

(2) TS (A) 5T (B)

(3) = (B), (C) 31R (D)
(4) S (A), (B) 3 (D)

Options :

212807114941. 1
212807114942.2
212807114943. 3
212807114944. 4
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Question Number : 232 Question Id : 21280728737 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ5
hatch List - I with List - I1
List - 1 List - 11
(A} Exploits a website to discover loopholes and vulnerabities (I} Spoofing
(B} Forging email addresses (I}  Plagarism
(€} Insulting, degrading or intimidating someone online (I} Cyberbullying
(I} Using other's work and not giving enough citations (TV}) White hat hacker

CIHH'IS-I-_' H'H.' correct answer {TEF]TL 111& ﬂFll'.i.l.]l'IH- Ei‘-’t‘l‘l |.'|'-I-.'|.1':I1|-"." S
(1) (AJ-(I), (B)-(IID), {O)-(TV), (D)-{0)

(2)  (A)-(IV), (B)-(110), (C)-(T), (D))-(I0)

(3)  (A-IV), (B)-{I), (C)-{IIT), {D)-(I0)

(4) (AL, (BJ-(IV), (C)=(1), (D)-(11)

Options :

212807114945. 1

212807114946. 2

212807114947. 3
212807114948. 4

Question Number : 232 Question Id : 21280728737 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ5

i1 § gei-11 F1 faes st .
-1 Tq-11

(A} Tl 2 Fiagi =1 @eq F fau 9 = i (n wgfk

(B) 33 YAl i ArerEre Hen (I =t

(C) Torsl &1 wi=eiEs sres &, i e o 0= & (1) HiEer giEm
(D} FEL % #7139 A A wEy @ oA (IV) =2 #2 %

=4 feu o fagrei § & wil 39 1 999 i
(1) (A, (B)-(IIL), (C)-(IV), (D)-(T)
(2) (A)-{IV), (B(IIL), (C)-(1), (D)-(IT)
(3 (AMIV), (B)-(T), (C)-{II). (D)-(I)
(4) (AR, (B-(IV), (C)-(I). (D))

Options :

212807114945. 1
212807114946. 2
212807114947. 3
212807114948. 4

Question Number : 233 Question Id : 21280728738 Question Type : MCQ Option Shuffling : No Is Question Mandai
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 &
llegedunia:

-



Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ5

Which malware usually tracks internet usage data and sells them to advertisers 7
(1) Adware

(2) Trojan

(3} Ransomware

(4) Spyware

Options :

212807114949. 1
212807114950. 2
212807114951. 3
212807114952. 4

Question Number : 233 Question Id : 21280728738 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ5

1A W WS O: 32 390+ e F oF Fia £ AR H faad :laam g 7
(1) HESH

(2) 2w

(%) IFEgEE

(4) FHEEAE

Options :

212807114949. 1
212807114950. 2
212807114951. 3
212807114952. 4

Question Number : 234 Question Id : 21280728739 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ5
Match List - T with List - I1.
List - 1 List - 11
(A) Controlling TV channels through remote (I} Circuit switching
(B) DMoving elevators up/down (I} Sumplex communicabion
(€} Communication between two compulers (IIT) Halt-duplex communication
(D} Communication through telephone call (TV} Full-duplex communication

C;'H'l'l.'lﬁﬂ H'I.ll.‘ correct answer .I:]'i.'l-]'l'l ﬂ'll." -{.'I'Flt'i.['l'['l?i H'.i'r't'l'l |.'|L'|.[:I'|.-'|." 5

(1) (A}, (B)-{IID), {C)-(), (DRIV)

(2) (ARIV), (B, (©)-(1), (D))

(3) (A} (B)-{II), {C)-(IV), {D)-(I)

(4) (AL, (B)-(I), (C)-(IV), (D)-(I

collegedunia:




Options :

212807114953. 1
212807114954. 2
212807114955. 3
212807114956. 4

Question Number : 234 Question Id : 21280728739 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ5

Teit-1 § g1 F1 o wifan

-1 TqEI-1T
(4) Trdr gr 3= S = feEm () Hfke fafEn

(B) UG &1 Sw-Arg M FHe () Faress Ha9n
(C) &+ & 9= Han () BF-E4wis HaH
(D) ZHEMEA ®iE 5 =50 (IV} F-Zg=+H HaR

== feu o faseui O v S = == A
(1) (AT, (B)-(ILE), {O)-(D), (D}R(IV)
(2)  (A)(IV), (B)-(IL), (C)-(T), (D)-(II)
(3 (A)-), (B)-(1IL), (O)-(IV), (D)-(I)
(4) (AL, (BY-(TD), (O)-(IV), (D)-(T)

Options :

212807114953. 1
212807114954.2
212807114955. 3
212807114956. 4

Question Number : 235 Question Id : 21280728740 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ5

Which method is used to display row labels of a datatrame 7
(1] iterrows| )

(2) index( )

(3)  columns{ )

(4) median( )

Options :

212807114957. 1

212807114958. 2

212807114959. 3
212807114960. 4

Question Number : 235 Question Id : 21280728740 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
IKey Value

collegedunia:




|C0mprehension

[MCQ5

feit doipn F iR yME F R Fe s fmsr s w wmwE % 7

(1) iterrowsd )

(27 index( )

) ':.'I.1J1.l[]'I]1!il:_ I
(4)  median{ )
Options :

212807114957. 1
212807114958. 2

212807114959. 3
212807114960. 4
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ

collegedunia:





